Day 8 - Real Life Situations (after).notebook November 28, 2019

Graph the equationy = 3x - 2.
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Slope: ™M~ = /

y-int: _ = -9 /
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Slope (m): Cost per hour, Cost per km, Cost
per picture, etc.....

y-intercept (b): Initial cost, base rate, initial
fee, tlat rate, sitting fee,
starting cost etc......

X: Number of kilometers,
Number of hours, Number

of pictures, etc....

y: Total Cost (§), Total Earned (§)
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Laura babysists on the weekend to make extra money. She

charges $15 as a flat rate and then $§5 every hour.
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Laura babysists on the weekend to make extra money. She
charges $15 as a flat rate and then $5 every hour.

b:\s =S

a) How much would it cost to have Laura babysit for 3 hours?

Y= oOx+\9 X=3

4= LNnS
Y= 316

(3= %20 |

b) How many hours could you have LLaura babysit for if you

had $450 -y

3 = 3Ix4 O
NG AS
S = Ik
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A photographer charges a sitting fee of $10 and §

p—

for every photograph ordered.
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A photographer charges a sitting fee of $10 and $5
for every photograph ordered. -

a) How many photographs could you get for $35? Y= 35

3: >x + 10
-\O O
395 = 9x+\0
995 = 5%

S S

I ]

LS ?\'\o\'bs =X \

b) How much would it cost for 8 photographs? X =8

S: Ox+\0
Y- XD +\0
Y= Lo +\0
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A taxi driver charges a flat fee of $25 and then $1 for every km
traveled. b-=35 ™ = |

l_ \«:: \"(\X—(—\o

o_ X+ 25
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A taxi driver charges a flat fee of $25 and then $1 for every km

traveled.

b-935 ™ =\

a) How far can you travel for $75? Y- 15

= X‘\'%
s

i -9
1S = X830

E“ao Km=£\

b) How much would it cost to travel 50 km? X = 00

m———

‘d: X435
5: O VIO

B = 8500
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What are you
charging to

tutor me?

Write the scenario that would represent the equation.

M=\ e are  CYa( \.na oW O
b= \O g\o{l} coke of Q\o p:?ms 8 ¢

&x evfij | Sy \:0:5(‘\’\05.
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Which of the following equations is a reasonable $
representation of the cost of raking leaves.

November 28, 2019
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y =mx + b

m = Rate of Change ( Slope)

b = initial amount ( vertical intercept or y-int.)

12
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Write the equation for each.

b-c o= =4 b6 m=F =L
a) | a‘d/ (o,) b) 2|9
8| 0 d= 10 R al
i \‘\\_\ s /-g:k{t)
S, U A [4{C0,0)
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Which graph has a rate of change of -5 and a vertical
intercept of 100? = b= (OO

N
a) 30019 / b) [ [546]@
b !
£ 1200 £ 200 //'d/ ¥
a 100 811004~
(N_TdE#D
- -
0 10\'2E) 30 0 10 | 20 | 30
T T
™M =-10
30
n — _5
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Homework
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Pinsawers

®5: 5%+ 100
® 4= Q5%+
©) y= Sx+30

@ Y= Bx10
©) 4= 20% +100
© y=\ox+0
Q@ NG \Ox+4S
® Y- 3ox 4130

@ 3 - \Ox%0

@ J: O\X-\-\L\
1)) 32\%X\:\5

= ‘\’&D
(§) ) \10%

@ 5: \5&

\s W= Dx + 0

w= 35 @D+ 150
= 1S4 \SO

Y =t%‘?§5

Y (FB)«\0

&y y= Txa 10
(&) W= \\x + 60
@ 5—_90><+\60
@3:
@ b: \QXﬂ)O

lox + 20

@\\): X+ U0
®3: ISx 49D

@b: \1x 4900
@ b: 8OX“'%
@3: 2Px + 00

) Y= WX+ 60
SR (CYRY=l

_ Yo\ + 0O
J

November 28, 2019
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53 5—_95x1\oo
\000 = 5% +10Q
%00 = B«

A = X
) W= \D%x + 30
5: \C.?(G)ﬂ‘)o

b: R0 <0
33"\\0

;}3 \\= ATl

43.50 = 9.5%+ 19

N0 = 9.5%

\\ - X

November 28, 2019

3\ \3: \2 x+230
MO = L% + 0
\aO = \éx

\O =X

\) Y= \Ox + LS
125 = \Ox+45
30 = \0x
A=x

Ky Y = 10x+40

oo = \Ox+x4Yo
\o0 = \Ox

\Ce =X
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